Read each question carefully. Provide the BEST answer.

1. Who is the narrator?
a. Alan

b. Kathy

c. Alan’s mother

d. Ryan

oaLIVEWORKSHEETS



2. How old was Alan when he met Kathy Hezlep?
a. 16

b. 15

c.14
d.13

3. What did Alan’s mother and Kathy Hezlep have in common?
a. They were both single mothers with one son.

b. Both of them were unemployed.

c. They both worked at Alan’s school.

d. Both women lost their sons in a car crash.

4. What was the effect of Alan being an inexperienced driver?
a. He did not follow the traffic laws.

b. He did not know how to come out of a spin.

c. He failed to wear his seatbelt.

d. He drove fast and recklessly.

5. Quote a COMPLETE sentence from paragraph FIVE that indicates the car
accident could have been a fatal one.

6. Using the numbers 1-5, place the events in the order in which they occur in
the passage.

The narrator visits Alan at the hospital.

Kathy speaks to the students about seat belt safety.

The narrator visits the scene of the car crash.

Alan gets his driver’s license.

The narrator receives a call about Alan’s car accident.
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7. Because Alan is a responsible driver he:

a. drove extremely slow.

b. read all of the road signs.

c. did not drive with passengers.

d. refused to pull off until his passengers were wearing their seat belts.

8. Find a word in the passage that means the same or nearly the same as each

of the following.

a. dreadful; frightful, horrific (paragraph 2)
b. endless, great, immense (paragraph 8)

o unwilling, resistant, hesitant (paragraph 2)

9. Why is the car compared to a loaded weapon?
a. When driven recklessly it can be deadly.

b. People use cars as weapons to attack others.
c. A car is powerful when it is driven cautiously.
d. Many drivers carry unlicensed weapons.
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